
Quiz 1                                                                                                                        Sec: 17 

Name:                                                                         ID#:                                       Sr. No. 

Evaluate the limits, if exist.  

𝑎.   lim
𝑥→−1

2𝑥2 + 3𝑥 + 1

𝑥2 − 2𝑥 − 3
 

 

 

 

 

 

 

 

 

 

 

 

 

b.    lim
            ℎ→0

(3+ℎ)−1−3−1

ℎ
                                                                     c.    lim

ℎ → 0
 

√49+ℎ−7

ℎ√1−ℎ
 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 



2. Use the Squeeze Theorem to find lim
𝑥 → 1−

 𝑓(𝑥)/𝑔(𝑥) , if: 

4𝑥 − 9 ≤ 𝑓(𝑥) ≤ 𝑥2 − 4𝑥 − 2     and     3𝑥 − cos(𝜋𝑥) ≤ 𝑔(𝑥) ≤ 4⟦𝑥 + 1⟧ 

for 𝑥 ≥ 0.                   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3. Let 𝑓(𝑥) = √7 − 3𝑥, 𝑎 = 1, and 𝐿 = 2. Find a real number 𝛿 > 0 that works for 𝜀 = 1 , such that: 

0 < |𝑥 − 𝑎| < 𝛿   ⇒    |𝑓(𝑥) − 𝐿| < 𝜀 

 


